Assignment #1 April 6-10

Part #1 Industrial Revolution

Karl Marx

Read through the following material, view the video links, research materials online and write a 1 ½ - 2 Page profile of Karl Marx. 
 

As previously mentioned the written assignment is optional and I can’t issue a mark for it but can give you feedback.
 If you choose to complete it, please  forward to the following email address:
Email: Michael.leblanc@nbed.nb.ca
If you don’t do the written assignment please go through the material and video links
KARL MARX  (1818-1883)

- Father of socialism/communism; German-born scholar who was ejected from Prussia and France for his radical views.

- Most significant work , pamphlet called Manifesto of the Communist Party (1848) written with the help of Friedrich Engels.
one of the most influential works of all time.
Basic ideas he promoted:
1) Abolition of private property.

2) State ownership of the means of production (industry)

3) Dictatorship of the proletariat (working class) and a classless society. 
http://www.youtube.com/watch?v=HsSLvbwFZh4
- Marx felt that the collapse of capitalism was inevitable. He said competition would drive small companies out of business creating a problem of massive unemployment.
- He also said that the owners and workers would always be at odds and thus you will always have a class struggle between the rich and the poor. (ex. today labor strikes).

- Thus, he advocated a revolution where the bosses would be overthrown by the workers; they would form the government and distribute all wealth equally.

 Most countries did not adopt communism however and decided to remain capitalist. Why?
The reason was that “unions” were formed which ended a great deal of worker abuse and wages and conditions improved. Political parties were also formed which pressured government for changes. Ex. The “Labor Party”.

- China is the largest communist country today; Russia of course was communist from 1917-1991. 
https://www.youtube.com/watch?v=fSQgCy_iIcc
Part #2 

Answer the scanned attachment (Industrial Revolution Puzzle). The letter is the first letter of the answer and the number of letters in the answer is in brackets at the end of the sentence. You may search for answers on the internet or by process of elimination in the puzzle as the answer is given vertically, horizontally, or diagonally.

